((Q):’ . @ \&\ 52,\ neljd murtolukua, desimaalit, toimintojen jirjestys

W e == suluilla
Nimi: Paivimaara: Pisteet:
2 1 3
2,4x20+4+505,4— =)= 48+ =)X2— ==
, (5.4-3) (4.8+3) %23
25+4(1—2 2) = 1><9*3—3(3-|-3 5)=
s 5 s 5 . 4 s
8(4,2+2,4)+ 4% 4+3,6= (§+3’4)X2+§:
3 5
2-4,6)x4-2,6= 2,1+2,3)x3+2,9=
3 3 2 1
——3,7)x4+5,9= —x15+5+2(=+ =)=
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S & 52,\ neljd murtolukua, desimaalit, toimintojen jirjestys

== Suluilla
Nimi: Paivamaara: Pisteet:
2 107 2 1 3 29 2
2.4x20+-4+505,4— =)= — = 35— 48+ -)X2— —-—=—=0—
9 X (9 3) 3 3 (7 3))( 5 3 3
1 11 1 1 3 243 3
2.5+4(=-2,2)=(——)=(—5= -—X9+3-3(=-+3,5)=(C-—)=("12—
S HA(z ~2,2)= ()= (-53) : (5+3.9)=(5)=(12)
282 2 2 3 131 11
4.2+2.4)+4x4+ = — =56- —+3.4)x2+ —-=— =8—
84,242, 47 4x4+3,6= == =567 (339 x2+ 3= 75 =833
_ _ — (— 161 1
(2-4,6)x4-2,6=("13) (2, 1+2,3)x3+2,9= — = 16—
10 10
3 13 1 3 2 1 63 3
——=3,7)%X4+5,9=(——)=(—6= - X15+5+2(=+ =)= — =6—
(5 ,7) % , (2) ( 2) 5 (5 2) 0 %10
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